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1.He........... his will to leave everything to his sister.

1) destroyed 2) conveyed 3) established 4) altered

2. Renovating the old house wasn’t a necessity, and if Alex wanted money
spent on it, he would likely ........... it on his own.

1) initiate 2) emphasize 3) deny 4) elaborate

3. After Jake scratched the fender on his father’s car, he tried to ........... the
damage by parking the vehicle in the garage.

1) invent 2) mention 3) conceal 4) advance
4.lused a smile to ........... my anger towards my boss.

1) retreat 2) disguise 3) stimulate 4) collect

5. When you have children and work a full-time job, you may ........... your
appearance because it is not important anymore.

1) observe 2) signify 3) neglect 4) decline

6. ltis ........... to sell alcohol and drugs to someone who is under 18.

1) faithful 2) illegal 3) potential 4) spiritual

7. The image ........... an old woman, who is feeling pain in her leg when she is
walking.

1) depicts 2) transforms

3) exposes 4) distinguishes

8. Jane was trying hard to ........... each word and phrase as accurately as
possible.

1) evolve 2) inform 3) comprehend 4) manage

9. During summer, most people can get enough vitamin D from a few minutes
(o] IO to sunlight.

1) extension 2) exposure 3) transition 4) pressure

10. The area was ........... beautiful, with green hills and a lot of waterfalls.

1) brightly 2) correctly 3) healthily 4) strikingly
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11. This hair tablet ........... your hair from the inside to make it healthy and
beautiful.

1) recognizes 2) exercises 3) punishes 4) nourishes
12. Some traditional cultures require women to be ........... to men.

1) obedient 2) compatible 3) constant 4) adequate
13. After school, some students always ........... around the building to talk to
their friends.

1) push 2) entertain 3) linger 4) reside

14. We can support the current efforts to ........... the environment by avoiding
activities like cutting trees for wood.

1) compose 2) preserve 3) review 4) isolate

15. One of the............ issues facing us today is global warming.

1) facial 2) crucial 3) initial 4) mental

16. The communications director was forced to ........... after only ten days on
the job.

1) compare 2) share 3) resign 4) handle

17. The 31-year-old Nadal says he will ........... a doctor to make sure he is in
good physical conditions.

1) resist 2) reply 3) arrest 4) consult

18. The rise in shipping costs would ........... result in higher prices for people
buying the products.

1) loudly 2) patiently 3) eventually 4) cheerfully
19. If waking up early isn’t ........... for you, you should not take the morning
shift.

1) valid 2) boring 3) feasible 4) fallacious
20. Whenever my daughter gets in trouble, she will ........... a tale to explain her

unacceptable behavior.
1) evolve 2) adopt 3) suspect 4) fabricate




21. Although the company would like to ........... the new insurance plans right
away, it has to wait until January to change the policies.

1) engage 2) suspect 3) implement 4) involve

22. His unpleasant remark ........... an argument that almost cost them their
friendship.

1) influenced 2) triggered 3) agitated 4) preserved
23. The criminal was able to ........... the police in the crowded mall.

1) elude 2) prohibit 3) employ 4) allocate

24. In order to find the murderer, the detective would have to ........... the dark
building for evidence.

1) oppose 2) investigate 3) avoid 4) foster

25. If the dam breaks it will ........... large parts of the town.

1) heighten 2) conduct 3) inundate 4) distribute
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Section Two: Structure Part One
Read the following sentences. In each sentence, choose the number of the
underlined word or group of words that is NOT correct.

26. The Industrial Revolution was a time when a great numbers of new inventions
1 2 3
were introduced.
4

(Fast Grammar g3 » oS ) i) number « ¥ 4y 55 : aauls

27. Barbara Jordan, the one of my heroes, was a strong champion of both civil
1 2 3

and human rights.
4

(Fast Grammar g3, oS A 3) sla o) One < Y 4y 35 :aauls

28. As the wave passes, the water particles move around in a circle and return to
1 2 3

its original position.

4

(Fast Grammar g3 5 GbS 1Y ik (o] @ o b puond cisllao) their « F 4y 35 :aauls

29. The nights showed that astronauts could fly in space, do complex tasks, and

1 2
to work outside their spacecraft.
3 4

(Fast Grammar g3 oS V (id bcad 10 Pl o)1) work « ¥ &5 35 : auuly

30. As Earth orbits the sun, there are periods when the poles tilt either toward
1 2 3
nor away from the sun.
4

(Fast Grammar g8, oLsS V isw) neither « ¥ & 35 :aauls
31. Filmmakers can break stereotypes by turning theirs cameras to capture
1 2

shared human qualities.
3 4

(Fast Grammar ig,6 » oUS VY Jisw) their « ¥ 4535 :auly




32.1n 1994, Mandela published his autobiography, Long Walk to Freedom, much
1 2
of which he had been secretly written while in prison.
3 4

(Fast Grammar ig,8 5 US4 s b co) had secretly written « F 4y 35 : auls

33. Cancer is a disease in which cells grow and divide uncontrollably, damaging

1 2
the parts of body around them. A cancer tumor begins as a single cell.
3 4

34. People can reduce their chances of developing cancer with avoiding smoking,

1 2
eating a healthful diet, and protecting their skin from bright sunlight. When
3
people inhale tobacco smoke, lung cancer and other forms of cancer may result.
4

(Fast Grammar (39,5 » oUs Y iss) by avoiding smoking « ¥ 4y 35 a.l.l.ll.l“
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healthful US [helB.f o I]
helping to produce good health
A healthful diet includes lots of green vegetables.

35. There are a lot of safety rules that we must follow on science lab as well. One
1 2
piece of equipment we well use most often is googles.
3 4

(Fast Grammar g6 oS VW isw) in science « ¥ 4y 38 :aauly
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36. The very first step in the scientific method is to state the problem. Once you
1
have done this you can go on some research and from a good hypothesis. Then
2
we test this by doing an experiment. We then analyze all of our data and finally
3

form a conclusion.
4

37. When doing a lab report two magic words must be included in the hypothesis.
1 2
Those two magic words are if then. The materials should be written as a list.
3
Charts and graphs will find in the data section of the lab report.
4

38. Atoms, the basic building blocks of matter, are made of three basic
1 2
components: the protons, neutrons, and electrons. The protons and neutrons
cluster together to form nucleus, the central part of the atom, and the electrons
3
orbit the nucleus.
4

9 Cowl o P Ay 35 45 0iS CE8 fums 5w Jlgw @re made up of « ¥ au;5 :auulbs
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39. Electricity is the movement of charged particles, usually electrons, from one

1
place to another. Materials that electricity can move through easy are called
2 3

conductors. Most metals, such as iron, copper, and aluminum are good
conductors of electricity.
4

easy o gl Move lu, ué Jad ol yonay oo g lociio) through easily « ¥ 45 35 : auuls
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40. Objects usually have numbers equally of positive and negative charges, but
1
it isn’t too hard to temporarily create an imbalance. One way scientists can
2
create an imbalance is with a machine called a Van de Graaff generator.
3 4

41. The sun evaporates water of lakes and oceans. As the air rises, it cools. The

1 2
water vapor condenses into tiny droplets of water. The droplets crowd together
3
and form a cloud.
4

(Fast Grammar

42. Play allows children to use their creativity while develop their imagination,

1 2
dexterity, and physical, cognitive, and emotional strength. Play is important to
3 4

healthy brain development.

43, Play also offers an ideal opportunity for parents to engage fully with their

1
children. In spite the benefits derived from play for both children and parents,
2 3
time for free play has been markedly reduced for some children.
4

(Fast Grammar g8 5 LS Y (ids 4Ll Bg > cxno) In spite of « ¥ 4535 : auuly

44. This report addresses a variety of factors that have reduced play, including a
1 2
hurried lifestyle, changes in family structure, and increase attention to academics
3
and enrichment activities at the expense of recess or free child- centered play.
4

(Fast Grammar




45. No single set of guidelines could do justice to the many factors that impact
1 2 3
children’s play, even if it was focus only on children living in the United States.
4

46. Play is integral to the academic environment. It ensures that the school
1 2
setting attends to the social and emotional develop of children as well as their
3 4
cognitive development.

47. The newly exchange student who comes from Norway is surprisingly fluent
1 2 3
in English.
4
(Fast Grammar oS A Sic dacaio 8 p,l5) New « Y 4y 35 :aauls

48. Basic chili powder consists ground, dried chilies blended with other spices.
1 2 3 4

(Fast Grammar g8, oUs 1Y sy adlsl Bg > o) CONSists of < ) 4 35 :aaubs

49. The program about the Egyptian ruins were narrated by an English scientist
1 2 3
and a French anthropologist.
4

(Fast Grammar g 6 QLS § i (Jad 9 Jelbb csllao copo) WaS < ¥ 235 :auuly
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50. Hope for a bicycle and a toy robot, my brother could not sleep at all on
1 2 3 4
Christmas Eye.

(Fast Grammar g 6 GUS ¥ Gisy ke <1321) hoping « Y 4435 :auly

51. Because as many bicycles were stolen, he hired a guard to keep an eye on
1 2 3
them.
4

(Fast Grammar (g 6 OUS F Licu) 09 Bdo (b as « ) a3 :auuly

52. The glaciers seem motionless, but actually it is always on the move.
1 2 3 4

o980 SUS VY g8 olajidu (o Jeld b Jad 3 25 yo b yuous cdisllao) they are « ¥ 4y 35 : auuly
(Fast Grammar

53. In rain forests, trees and plants absorb carbon dioxide from the atmosphere
1 2 3

and replace its with oxygen.
4

(Fast Grammar g6 oS Y Jis) it « F &y 35 :quuls

54. Most of the treasure that buried by the pirates has never been found.
1 2 3 4

55. Ants trying to protect their colonies from storms by piling up sand against the
1 2 3 4
wind.

(Fast Grammar (g 6 GUS ¥ Gidy calex sl32) try < ) &5 35 tauuls
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Section Two: Structure Part Two

In each of the following sets of sentences, three sentences are grammatically
correct and one sentence is not grammatical. Identify the incorrect sentence and
mark your answer sheet.

56.

1) They lived in a brick white old house.

2) He was interested in a dirty, old, Arabian brass lamp.
3) The college built a large, new, wooden dormitory.

4) They spent three long, cool summers in the mountains.

57.

1) They told her that she can visit them next week.

2) They must have finished by now.

3) You should have told me where you were going.

4) You could have passed the test if you had studied harder.

58.

1) The gallbladder sits on top of the liver.

2) A ladder has been set under the window.
3) I sat the vase of flowers on the table.

4) | was born in Shiraz, but raised in Tehran.

59.

1) They have finally set a date for their wedding.
2) The cement will set in about an hour

3) Please sit where you can find a seat.

4) The judge came on the courtroom.

60.

1) I had to lie down for a moment.

2) They laid great stress on employees’ being on time.
3) | asked the waiter to get us an outside table.

4) We got the committee change the next meeting date.

(Fast Grammar 3,3 oS 1Y i) ... meeting's date « F 4535 :aaubs




61.

1) The children are being watched by a neighbor.

2) Make them to be quiet.

3) The directions require us to reboot the computer.

4) We had the contractor to replace the leaking window.

S A i) 0 85 55 o il ol 1y ¥ &3S o Ylasod IF 5 ¥ (oS sAumly
(Fast Grammar g, 5

62.

1) The story was read by the whole class.

2) The money had kept in a locked safe.

3) We were eating dinner when we got there.

4) The kids were busy helping the neighbors pick tomatoes.

63.

1) We stopped in front of a small house. The house looked empty.

2) The problem is very important, but it is not the matter of life and death.
3) It’s an angle of less than 60 degrees.

4) Happy people usually have quite a few friends.

(Fast Grammar (g 6 GUS ¥ is) a matter of ... « ¥ &y 35 :auuls
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64.

1) Every one of our employees are important to the company’s success.
2) German cars are just as reliable as Japanese ones.

3) We all slept late, but | slept the latest.

4) We are enjoying the most rapidly expanding economy in years.

(Fast Grammar (39,6 5 oS & Lidu (Jud g Jebb @ilki) is important to ... « Y 4y 35 : Al

65.

1) You haven’t worked enough to earn a vacation.

2) They have enough to survive the winter.

3) I here were so many people in the restaurant that we couldn’t get in.
4) It was too bad storm that all the crops were ruined.
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Passage 1

Life abounds in the open ocean. Scientists divide the ocean into different life
zones, based on the depth to which sunlight penetrates the water. The lighted
zone of the ocean is the upper 200 m or so. It is the home of the plankton that
make up the foundation of the food chain in the open ocean. Below about 200
m is the dark zone of the ocean. Animals living in this region feed on material
that floats down from the lighted zone, or they feed on each other. Plants do not
grow here.

66. There are no plants below 200 m, most probably because ......... .
1) there is not enough light for photosynthesis

2) they are eaten by the animals living there

3) the water absorbs all the oxygen

4) their roots cannot reach the ground

67. The passage mainly discusses ......... .

1) the organisms living in the ocean 2) how ocean organisms feed

3) how deep the open ocean is 4) the major life regions in the ocean

68. The word “penetrates” in line 2 is closest in meaning to ......... .

1) makes a hole in 2) travels into

3) warms 4) affects ¢
69. It can be inferred from the passage that the plankton ......... .

1) is a small organism

2) feed on each other

3) use sunlight for food production

4) can live in both dark and lighted zones

70. According to the passage, organisms living in the dark region ......... .
1) need light for photosynthesis 2) cannot make their own food
3) cannot move easily 4) destroy the food chain
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Passage 2

European nations came to the Americas to increase their wealth and broaden
their influence over world affairs. The Spanish were among the first Europeans
to explore the New World and the first to settle in what is now the United States.

By 1650, however, England had established a dominant presence on the
Atlantic coast. The first colony was founded at Jamestown, Virginia, in 1607.
Many of the people who settled in the New World came to escape religious
persecution. The Pilgrims, founders of Plymouth, Massachusetts, arrived in 1620.
In both Virginia and Massachusetts, the colonists flourished with some assistance
from Native Americans. New World grains such as com kept the colonists from
starving while, in Virginia, tobacco provided a valuable cash crop. By the early
1700s, enslaved Africans made up a growing percentage of the colonial
population. By 1770, more than 2 million people lived and worked in Great
Britain’s 13 North American colonies.

71- Some British colonics made money by ......... .
1) charging the Spanish colonies 2) creating useful art products
3) selling African slaves 4) farming and selling tobacco

72. Paragraph 2 mainly discusses ......... .

1) how British colonies were established

2) how different locations were named

3) when Plymouth, Massachusetts, was founded
4) where African slaves lived and worked

73. It can be inferred from paragraph 2 that British colonies developed ......... .
1) in desert areas 2) as a result of poverty
3) along the Atlantic coast 4) in the years following 1970

74. All of the following are mentioned as factors contributing to the success of
British colonies EXCEPT ......... .

1) tobacco 2) corn

3) Native Americans 4) The Spanish

75. According to the passage, Plymouth, Massachusetts, was founded by ...... .
1) native Americans 2) religious settlers

3) Spanish settlers 4) African slaves

;29,5 The Pilgrims (Son slbans &) lew! ¥ &3S his Jhw ol Oly :aagd
ol gl oy 0 religious settlers « s .cwl 15 Jxe 4 pilgrim




Passage 3

In the 1920s, new technology allowed filmmakers to attach to each film a
soundtrack of speech, music, and sound effects synchronized with the action on
the screen. These sound films were initially distinguished by calling them talking
pictures, or talkies. The next major step in the development of cinema was the
introduction revolutionized the medium, quickly driving out silent movies, color
was adopted more gradually. The public was relatively indifferent to color
photography as opposed to black-and-white films, more and more movies were
filmed in color after the end of World War I, as the industry in American came
to view color an essential to attracting audiences in its competition with
television, which remained a black-and-white medium until the mid-60s. By the
end of the 1960s, color had become the norm for filmmakers.

76. All of the following statements are supported by the passage, EXCEPT ..... .
1) black-and-white films are no longer a major source of entertainment

2) the arrival of sound films ended the popularity of silent movies

3) the film industry fell into a serious crisis after the end of World War Il

4) the introduction of color to movies helped movie industry in its competition
with TV

77. The passage mainly talks about ......... .

1) how film making industry has survived

2) the comparative effects of sound and color on movie industry
3) how color was introduced and how color films were made

4) the effect of World War Il on movie industry

78. According to the passage, people didn’t show great interest in color movies

because they were ......... )
1) silent 2) expensive
3) interesting 4) less qualified

79. It can be inferred from the passage that the introduction of sound films

2) was delayed until after the end of World War Il
3) made color movies commercial
4) was an important milestone in the movie industry

80. According to the passage, which of the following is true?

1) The 1920s marked the end of sound films.

2 The transition to color films was not as rapid as the transition to sound films.
3) Color movies did not appear until the mid-60s.

4) Television didn’t become popular until the mid-60s.




Passage 4

Sometimes an animal copes with a changed situation, not by adapting to it,
but by moving away from it to another location. There, it may still have to adapt,
but the type of adaption may be easier. There are primitive races of man that
have attempted to avoid the pressures or changes that civilization brings. They
have had to adjust to living in remote or harsh conditions. Examples are the
pygmies of the Congo who have escaped into the thickest jungles which are full
of dangers. They have learned to obtain a living there and to cope with wild
animals. African Bushmen mange to live off the arid Kalahari Desert where there
is hardly any other life. Life is though for the Bushmen but they are left in peace.
These social adaptations could well lead to unlikely that any single person would
be aware of it taking place.

81. Which of the following conclusions is supported by the passage?
1) Nobody knows how social changes happen.

2) The slow change is not taking place today.

3) Social changes may lead to biological changes over time.

4) There is not obligation for human beings to find a new location

82. The best title for this passage is ......... .

1) Animal Adaptation Behavior versus Human Adaptation Behavior
2) Man and Adaptation to the Environment

3) How Congo primitives and Bushmen Have Survived

4) Types of Adaptations

83. According to the passage, instead of adapting, an animal ......... .
1) goes around for finding a prey

2) prefers not to live in another environment

3) must find ways to feed itself

4) moves into a different habitat from time to time

84. It can be inferred from the passage that ......... .

1) for primitive human beings keeping the civilization alive was crucial

2) Bushmen used to live in humid places before moving to Kalahari Desert
3) primitives had to live in peaceful or harsh conditions

4) pygmies are short because of dealing with wild animals

85. According to the passage, an individual is unlikely to be aware of ............ .
1) the first that the Bushmen should be left in peace

2) cultural changes in new generations

3) the similarity of single individuals

4) biological adaptations derived from social adaptations




Section Four: Cloze Passage
Read the following passage and fill in the blanks with the most appropriate
choice.

On December 5, 2013, at the age 95, Nelson Mandela died at his home in
Johannesburg, South Africa. After suffering a lung infection in January 2011,
Mandela ...(86)... briefly hospitalized in Johannesburg to undergo ...(87)... for a
stomach ailment in early 2012. He was ...(88)... after a few days, later returning
to Qunu. Mandela would be hospitalized ...(89)... times over the next several
years - in December 2012, March 2013, and June 2013 - for further ...(90)... and
medical treatment relating to ...(91)... recurrent lung infection.

Following his June 2013 hospital visit, Mandela’s wile, Graca Machel. ...(92)...
a scheduled appearance ...(93)... London to remain at her husband’s side, and his
daughter. Zenani Dlamini, flew ...(94)... from Argentina to South Africa to be with
her father. Jacob Zuma, South Africa’s president, ...(95)... a statement in
response to public ...(96)... over Mandela’s March 2013 health scare, asking for
support in the form of ...(97)... : “We appeal to the people of South Africa and
the world to pray for our beloved Madiba and his family and to keep ...(98)... in
their thoughts,” Zuma said. ...(99)... the day of Mandela’s death, Zuma released
a statement ...(100)... to Mandela’s legacy: “Wherever we are in the country,
wherever we are in the world, let us reaffirm his vision of a society in which none
is exploited, oppressed or dispossessed by another,” he said.

86. 1) has 2) was 3) would 4) could
87. 1) medical 2) surgery 3) physical 4) examined
88. 1) asked 2) taped 3) escaped 4) released
89. 1) many 2) most 3)so 4) too
90. 1) testing 2) tackling 3) giving 4) tending
91. 1) their 2) its 3) his 4) hers
92. 1) supported 2) cancelled 3) demonstrated  4) organized
93. 1) for 2) at 3) by 4) in
94. 1) behind 2) inside 3) back 4) into
95. 1) issued 2) returned 3) decided 4) acted
96. 1) convince 2) converse 3) convict 4) concern
97. 1) employer 2) prayer 3) demander 4) leader
98. 1) themselves  2) us 3) him 4) them
99.1) on 2) at 3)in 4) -

100. 1) appealing 2) speaking 3) announcing 4) supporting
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1. He........... his will to leave everything to his sister.
1) destroyed 2) conveyed 3) established 4) altered

2. Renovating the old house wasn’t a necessity, and if Alex wanted money spent on it, he

would likely ........... it on his own.

1) initiate 2) emphasize 3) deny 4) elaborate
3. After Jake scratched the fender on his father’s car, he tried to ........... the damage by
parking the vehicle in the garage.

1) invent 2) mention 3) conceal 4) advance

YVY 545 Slino VAA A Sl w0l AF oy Jol el 0 o)

4.l used a smile to ........... my anger towards my boss.

1) retreat 2) disguise 3) stimulate 4) collect

- Fast Reading skl ol

VoY g VoY Sl

W e YY w).)

5. When you have children and work a full-time job, you may

........... your appearance
because it is not important anymore.
1) observe 2) signify 3) neglect 4) decline
p.m.))buajc;'w).) °\A5\GY37LO..0 Wusjc\aw)b ML"’J‘Y ood
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6. ltis........... to sell alcohol and drugs to someone who is under 18.
sl 0 03,51 Fast Vocab s \ V) dxiw s illegal cid sl Jbe olgicds Gae Jlga o
1) faithful 2) illegal 3) potential 4) spiritual
WY dran pgd ca Y pian sl FA oo YV das
7. The image ........... an old woman, who is feeling pain in her leg when she is walking.
1) depicts 2) transforms 3) exposes 4) distinguishes

8. Jane was trying hard to

each word and phrase as accurately as possible.

1) evolve

W_B.))L, QAA.I O L).\J).)

2) inform

YWY daw

3) comprehend

4) manage

9. During summer, most people can get enough vitamin D from a few minutes of

sunlight.

1) extension

\':\7@0

2) exposure

AY din

3) transition

4) pressure

VY dao

10. The area was

beautiful, with green hills and a lot of waterfalls.

1) brightly

2) correctly

Yo¥ 5 VAV YA Clxio

3) healthily

VAY doan

4) strikingly

11. This hair tablet

your hair from the inside to make it healthy and beautiful.

1) recognizes

2) exercises

3) punishes

WY dan

4) nourishes

polee <l KV oy

12. Some traditional cultures require women to be

to men.

1) obedient
ot i) & ey

2) compatible

YY) daw

3) constant

T g VIY e Slio

4) adequate
rb.ﬁ.) LA:.] A L)»)J

13. After school, some students always

around the building to talk to their friends.

1) push

YV dxaw

2) entertain

YAD dan

3) linger
rvﬁ.) u&l ‘V (-)A))J

4) reside
fa.) u.;J CYY' L)d).)
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14. We can support the current efforts to ........... the environment by avoiding activities like
cutting trees for wood.

1) compose 2) preserve 3) review 4) isolate

A5 daws W e ¥ u.o).) YA dbo pb.))‘s.) e A u.v).)

15. One of the............ issues facing us today is global warming.

1) facial 2) crucial 3) initial 4) mental

16. The communications director was forced to ........... after only ten days on the job.

1) compare 2) share 3) resign 4) handle

VY i VA 5 WAY Gl w3y il ¥ ey VEY 5 VYO doxio

17. The 31-year-old Nadal says he will ........... a doctor to make sure he is in good physical
conditions.

1) resist 2) reply 3) arrest 4) consult
w.mc,‘;l‘a\’ o VAY 4 VY dxds OF dxaw -

18. The rise in shipping costs would ........... result in higher prices for people buying the
products.

1) loudly 2) patiently 3) eventually 4) cheerfully

¥ dxao VY dan VO i YAS o YAV MY Glrio

19. If waking up early isn’t ........... for you, you should not take the morning shift.

1) valid 2) boring 3) feasible 4) fallacious
i Cd AF ey YVE 5 V85 Clxio AD Ao JES ROV ST

20. Whenever my daughter gets in trouble, she will ........... a tale to explain her
unacceptable behavior.

1) evolve 2) adopt 3) suspect 4) fabricate
a3l cad B o a2l sl YF ey - YoV 9 YAY YD wlbraw
21. Although the company would like to ........... the new insurance plans right away, it has

to wait until January to change the policies.

1) engage 2) suspect 3) implement 4) involve

VA0 WYY N5 Clbrio - Fast Reading Lzl ol a2l e Y&
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22. His unpleasant remark ........... an argument that almost cost them their friendship.
1) influenced 2) triggered 3) agitated 4) preserved
23. The criminal was able to ........... the police in the crowded mall.
1) elude 2) prohibit 3) employ 4) allocate
WY 5 V5 Sl WY 5 OF Slxio \EY doxio ¥ doxio
24. In order to find the murderer, the detective would have to ........... the dark building for
evidence.
1) oppose 2) investigate 3) avoid 4) foster
YOF g V¥ Y Clbras VY dovo pow Cad ¥ oy YVY dovn
25. If the dam breaks it will ........... large parts of the town.
1) heighten 2) conduct 3) inundate 4) distribute
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Section Two: Part One
Read the following sentences. In each sentence, choose the number of the
underlined word or group of words that is NOT correct.

26. Mammals are among the most adaptable animals on the planet. They find on

1 2 3
every continent and in every ocean, and range in size from tiny bumblebee bats
4

to enormous blue whales.

(Fast Grammar g3 oS 1) Lide (Jsexe 9 polao) are found « ¥ 4 55 : auuly

27. Taxes pay for services like firefighters and police; they built roads, and also

1 2
public schools. Tax money also pays for national defense and military.
3 4

28. Stress, in everyday terms, is feeling that people have when they are

1
overloaded and struggling to cope with demands. These demands can be related
2 3
to finances, work, relationships, and other situations.

4

(Fast Grammar g3 GLS ¥ i 111,55 4355 oy Lea) i @ feeling « Y 4535 : auly
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29. Migraine attacks can cause significance pain for hours to days and can be so

1 2 3
severe that the pain is disabling.
4

30. Agriculture was the key development in the rise of sedentary human

1
civilization, whereby farming of domesticated species creates food surpluses
2 3
that enabled people to live in cities.
4

(Fast Grammar oS 1+ 54 slaicu byl ) @lki g Jad o) created « ¥ 4y 35 :aauls

) 4y35 g ouus dliwl gwyda Fise pa! 51 Of 85I U8y g the Wy ja U o g a5 0iS €

31. One of early examples of public shopping areas comes from ancient Rome, in
1 2
forums where shopping markets were located.
3 4

(02555 25T o1 595 2 320 9031 31 3

32. Cooperative learning is a successful teaching strategy in which small teams,

1
each with students of different levels ability, use a variety of learning activities
2 3
to improve their understanding of a subject.

4

(Fast Grammar g8 5 ols
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33. Self-confidence is extremely important in almost every aspects of our lives,

1 2
yet so many people struggle to find it. People who lack self-confidence can find
3
it difficult to become successful.

4

34. Another argument against stadiums is the inconvenient caused by the traffic
1 2
jams during home games, and the loss of television airtime of previously watched
3

programs to sporting events.
4

(Fast Grammar g3 GUS VP 5 ¥ slaic (baigus) the inconvenience « ¥ 4535 : Al

35. If we continue down this road, there can be not surprise about what awaits

1 2
" us at the end. After all, it is a tale that has been told time and again throughout
3 4

history.
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36. In 1994, Mandela published his autobiography, Long Wall to Freedom, much
1 2
of which he had been secretly written while in prison.
3 4

(Fast Grammar oS 1) (isu (Jsee 9 pslne) had secretly written « f & 35 :auuls
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w235 J 1y o
37. A book inspire the 2013 movie Mandela: Long Wall to Freedom. He also
1 2
published a number of books on his life and struggles.
3 4

38. In 2009, Mandela’s birthday (July 18™) was declared Mandela Day, an

1
international day to promote global piece and celebrate the South African
2 3
leader’s legacy.
4

39. According to the Nelson Mandela Centre of Memory, the annual event is

1
meant encourage citizens worldwide to give back the way that Mandela has
2 3
throughout his lifetime.
4
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40. Although bringing flowers to the sick is an old custom but it remains popular.
1 2 3 4

oSy oS Fast Grammar oS (F (isu) YY dieo mee 80 arlise lus) it < ¥ 4535 :auuls
(025 25T 5f (595 o oloygen b uiid

41. For make these experiences more exciting, music artists are turning to
1 2 3

mobile-friendly tools.
4

(Fast Grammar (g 6y GUS 4 i «bas ole) t0 < ) &y 35 tauuls

42. My little sister, who afraid of thunder and lightning, hid under the bed.
1 2 3 4
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43. This wool mainly comes from the Bactrian camel, which has two humps and
1 2 3
is native of central Asia.
4

(Fast Grammar (g6 CUS IV v «adlal By > corno) 10 < F 40335 :aunly
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44. On Earth, oxygen is more commoner than any other element.
1 2 3 4

(02,5 286 T &5 (59, 9 9235 S 0l g0 53 s odlS as | Cornds

45. A person’s voice makes a pattern of sound waves that it is called a voiceprint.

1 2 3 4
(Fast Grammar g,8 5 GUS F Lisu) is < ¥ 4y 35 ;b
22355 Jo 0o sho B3 puikd (WM gan o 1y Cond o] asliiio
46. The 1965 war between India and Pakistan was second battle between the
1 2 3 4
two countries.

47. Despite of the efforts to end slavery in the North, in the South slavery
1 2 3
continued.
4

(Fast Grammar g8, oUs Y Liss) Despite « Y &35 :auuly
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48. Minerals are the materials that makes up the rocks of Earth’s crust.
1 2 3 4

(Fast Grammar (g6 GUS § i (Jad 9 Jolb cislao) make « ¥ &y 35 :auuls




49. Students with disabilities are often faced with numerous challenge as they
1 2 3
progress through their school years.
4

(Fast Grammar g, 5 obs () yide) & axivo 41,55 » 4355) challenges < ¥ 4y 5 :aaulbs

50. In Montessori classrooms, children make to creative choices in their learning,
1 2
while the classroom and the teacher offer age-appropriate activities to guide the
3 4

process.

(Fast Grammar 3,3 » oS 18 i) make creative choices « ¥ 4535 :auuls

51. A rainbow is a meteorological phenomenon that is caused by reflection,
1
refraction, and dispersion of light in water droplets resulting of a spectrum of
2 3
light appearing in the sky. It takes the form of a multicolored circular arc.
4

(Fast Grammar g3 » oS 1Y ic) resulting in « ¥ 45 35 : auly

52. The passage of a year can bring a marked change in the weather and the
1 2
surrounding environment. The four seasons-winter, spring, summer, autumn-
3
can vary significant in characteristics and can prompt changes in the world
4
around them.

(Fast Grammar (g, 5 obS A i augd o ,15) vary significantly < f 4y ;5 :aaulbs

53. In the spring, seeds take root and vegetation begins to grow. The weather is
1 2 3
warmer and often more wet.
4

(Fast Grammar _pg,8 5 obS A Lid dacie JLuads Jsii) wetter « ¥ 435 :auls




54. Animals wake or return from warmer climates, often with newborns. Melting

1
snow from previous season, along with increased rainfall, can cause flooding
2 3
along waterways.
4

(Fast Grammar g8
9 o9 23wl Sl 24 increased ciwo ;i rainfall ww! 51 L8 ¥ 4y 35 )5 o5 as <ds

100wd 48,5 595 cyio 51 Jlaw ke 1M1 IS JSukee Tusl o WA AR

In the spring, seeds take root and
vegetation begins to grow. The weather is
warmer, and often wetter. Animals wake or
return from warmer climates, often with
newborns. Melting snow from the previous
season, along with increased rainfall, can
cause flooding along waterways.




55. Nutrition, nourishment, or aliment, is the supply of materials-food-required

1 2
organisms and cells to stay alive. In science and human medicine, nutrition is the
3
science or practice of consuming and utilizing foods.

4
(Fast Grammar (g 6 GUS Y 5 1) slaic) required by « ¥ 4y 35 :auls
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Section Two: Structure Part Two

In each of the following sets of sentences, three sentences are grammatically
correct and one sentence is not grammatical. Identify the incorrect sentence and
mark your answer sheet.

56.

1) Carolyn gave a cat to her aunt.

2) The air grew thin within a day.

3) The man’s feet sank into the water.
4) He began wonder about him.

(Fast Grammar g3 » ol 4 i) began to wonder « ¥ 4535 :aaulbs

57.

1) One of her books were missing.

2) The telephone in my hotel room.

3) The actor played the role of a teacher.
4) Probably he was running a fever again.

25T cagud o3liiw! 3 ko Jd 51 sl ONE OF 51 any a8 &S ol (59, ,b N 0lo yo0 83 puid (WIS )
(03,5

58.

1) I would move to Japan if | speak Japanese.
2) It lowers the risk for certain diseases.

3) At last, we could see them in the diseases.
4) Behavior should be tracked and stored.
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1.A......... education needs to include reading, writing, math, and a variety of
other subjects.

1) plain 2) visual 3) silly 4) fundamental
2. | am very ........... for the support | received from my family during the
recovery period.

1) careful 2) powerful 3) helpful 4) grateful

3. Some workers became ill because of the ............ conditions on the farms.

1) harsh 2) natural 3) proper 4) suitable

4. Our exercises help you think quicker and ............ information from your
memory faster.

1) retrieve 2) associate 3) monitor 4) look

5. Most people have to ............ stress on the job from time to time.

1) interfere with 2) agree with 3) succeed in 4) cope with

6. In the early 1960s, producers were very powerful and ............ organizations.
1) hesitant 2) passive 3) dominant 4) relevant

7. Danielle cannot expect to pass-her chemistry test if she only spends a ............
amount of time studying.

1) large 2) negligible 3) vast 4) notable

8. She has shown a lot.of her paintingsinart ........... around the world.

1) exhibits 2) districts 3) missions 4) reviews
9.lna............of just ten years, the city’s crime rate has increased by 50 percent.
1) space 2) span 3) frame 4) minimum

10. Without a ..........., the house was empty for several months.

1) lawyer 2) director 3) dweller 4) sailor
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11. Because of the .............. , there is less water flowing from rivers into the
oceans.

1) drought 2) damage 3) comfort 4) budget

12. Overuse of computers can ................. children from developing the skills
necessary for work and life.

1) ruin 2) shelter 3) abuse 4) hinder

13. She............ that she had always told the truth.

1) monitored 2) insisted 3) counted 4) learned

14. Using a needle to ........... her ear caused the girl a lot of pain.

1) capture 2) tackle 3) pierce 4) catch

15. Modern plays are easy to understand in ........... with those written by
Shakespeare.

1) comparison 2) point 3) contact 4).difference

16. She ........... to finish the project without any help.

1) resulted 2) fulfilled 3) managed 4) achieved

17. The Queen’s visit to Rome was very short, so she decided to ........... it by
three days.

1) stretch 2) spread 3) extend 4) shrink

18. They ........... my mother for a famous actress.

1) mistook 2) confused 3) understood 4) misinterpreted
19. The ........... traffic made him late for work.

1) full 2) strong 3) thick 4) heavy

20. | went to the exam session full of ..........., but it was more difficult than | had
imagined.

1) confidence 2) posture 3) mystery 4) patience

21. Even though the company claims the energy drink is ........... , you may
experience some unwanted side effects after drinking the beverage.

1) kind 2) benign 3) spectacular 4) apathetic

22. 1 was ........... when the doctor suggested | try massage for my headaches,
but it really helped.

1) satisfied 2) critical 3) skeptical 4) brave

23. The teacher who allowed the bullying in her class is just as ........... as the

student bully.
1) innocent 2) bold 3) fabulous 4) culpable
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24. She bought a new umbrella, and ........... lost it.

1) significantly 2) promptly 3) greatly 4) seriously
25. Doris Lessing, who grew up in Zimbabwe, wrote many books ........... life in
Africa.

1) depicting 2) insisting 3) sympathizing 4) mourning
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Section Two: Structure Part One

Read the following sentences. In each sentence, choose the number of the
underlined word or group of words that is NOT correct.

26. Today, researchers who study the movement of heat in Earth’s interior have
1 2 3
proposed several possibly explanations.

4
5 45 Fast Grammar g, 5 obS A s (bad 9 s o 1) possible « § 4 35 : aauls
(2355 LausT ()T 59 32 LT (9031 31 Jud 53,88 5,590

27. The interaction of plates produces forces that build mountains, create ocean
1 2 3
basins, and causing volcanoes.
4
(Fast Grammar (g6 GUS ¥ Gid s 53 Ik [ (Sluos) Cause < F &y 35 :auuls

28. Plant nutrients locked up in standing vegetation; dead or alive, is recycled by
1 2 3 4
fires.

(Fast Grammar g8 oS £ yiciJad g Jelb gills) are « ¥ &y 35 :auuly

29. That was a more stronger earthquake than any known to have occurred in
1 2 3
the area.
4

539 0 45 Fast Grammar (b by obS A Gic) dgud Bl gl More « Y 4535 :aauly

(02355 95T 3T (595 32 LT 9 30 o057 31 Jud 55,0

30. Each of these categories have two subcategories of task and non-task-related
1 2 3

variables.
4

(Fast Grammar (g6 GUS § 91 by ic (Jad 9 Jelb ki) has « ¥ 435 :auuly

31. As economists state, costs are about production, so price is about value.
1 2 3 4

oy QLS gl oyo F Uiy laanlbed by, gy 3p,05) but/ and « ¥ &35 :aauly
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32. In these classrooms, teachers try to be creative in their teaching, and offer
1 2 3
age-appropriate activities to supported the learners.
4

33. Everything we do take energy, which we get from many different sources.
1 2 3 4

(Fast Grammar (g3 ObS & ik (Jad g Jebb 3lks) takes « Y &y 35 : auly

34. Long after fossil fuels have run out, the tides will still be turning, the wind will
1 2 3
still be blowing, and the Sun will still shine.
4

(Fast Grammar

35. Once again, more multiple movies based on the same story is generating
1 2 3

controversy.
4
(Fast Grammar (ig,d5 SS'$ Jisu (Jad g Jebb gills) are « ¥ &y 35 :duuls

36. William Gilbert was the first person to realize that Earth has a magnetic field
1 2
similar to those of a bar magnet.
3 4
539 50 45 Fast/Grammar g,y obS A s bad 5 bews 5 )l5) that « ¥ 45 35 :aauls
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37. The most successful leaders understand that it is not the organization nor the
1 2
individual who is most important, but the relationship between the two.
3 4

(Fast Grammar

38. Kids in low-income families just hear much less talk do than kids in higher-
1 2 3 4

income families.

(Fast Grammar g3 oS A Lid bad 5 o o 1) than do « ¥ 4555 :auubs

39. Itis one that group of chemicals referred to us oxygenates, because they raise
1 2 3
the level of oxygen in gasoline.
4

(Fast Grammar (g 6 OUS F i boaindlay s »)l5) One « 3 &35 :auuly
40. The Graf Zeppelin, a second largest airship'ever built, stopped here on its

1 2 3 4
voyages around the world.

(Fast Grammar g8, oUs ¥ st dhe Gy ;5 &y slas p,l5) the < Y &5 35 :aauly
41. We experience air pressure all the time because the weight of air pressing in
1 2 3
on our bodies.
4
h9ydy oS Y dxio f Lisu because of gbecause wglis) because of « ¥ 4y 35 :aaubs
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42. Elephants produce low-frequency sounds that are believed originating from
1 2 3
a small area on their foreheads.
4

(Fast Grammar (g, oS 4 i 20 b jouae slas ,15) to originate « ¥ 4 35 : auly
43. With the ever-wide demand for natural resources, the realities of climate and
1 2 3

ecosystem change.
4

44, Fortunately science, like the nature to which it belongs to, is'neither limited
1 2 3 4
by time nor by space.

(Fast Grammar g8 5 LS 1Y jidy adlol Bg o) Cowl (SLSTt0 « ¥ 4y 35 :aauls

45. The relative size of earthquakes is measured by-the Richter Scale, which

1 2
measuring the energy an earthquake releases.
3 4

(Fast Grammar g3 oS F ics) measures « ¥ &5 35 :auuls

46. For example, writing on walls, which a popular form of graffiti for many years
1 2
in America, is usually:done with markers rather than paints.
3 4

(Fast Grammar g, » oS ¥ isw) Which is « ) 435 :aauls
47. Everything that exists can be classed as either a type of matter and a form of

1 2 3 4
energy:

(Fast Grammar g3 GLS ¥ (idy (oo slosiasla, o,5) oF « F &y 35 : Al

48. Through the study of folklore, it is possible to gain insights into the events
1 2
that have been shaped the lives of ordinary Americans.
3 4

(Fast Grammar (ig,6 5 GUS 1) Gis . Jstme 3 poleo) have shaped < ¥ 4 35 : auuly
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49. Early people gathered wild plants, but then, about 10,000 years ago, the first

1 2
farmers began to cultivating food plants as crops.
3 4

as Fast Grammar g8 » oliS 4 s lcwla 6lasliYe 3 o9l 50) cultivate « ¥ 4y 55 : auly

(2055 ST T 32 o o2 LT (o903 51 S 83 528 5,99 5o

50. Game preserves are a type of protected area which hunting of certain species
1 2 3

of animals is not allowed.
4

(Fast Grammar (ig,6» oUS VY i) in which < Y & 39 :auuls
51. They tend to believe that the children should be allowed to make them own
1 2 3

mistakes and learn from them.
4

(Fast Grammar g 8 OUS 1Y id jaoud £loil) their « ¥ a5 55 :auuly
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52. In the late 1990s, ecologists in the United States recognize that deforestation

1 2
in the tropics was destroying the winter habitat of many migrating as well as
3 4
native birds.

(Fast Grammar olis 4 Jidu (oloj aud g J=d Sk @lks) recognized « ¥ &5 35 :aauls

53. Star clusters are relatively young stars which have been formed within last

1 2 3 4
few billion years.

(Fast Grammar

54. As Mercury is so close to the Sun, is only visible just before sunrise or just
1 2 3 4
after sunset.

(Fast Grammar (g 6 GUS pgs wyouF i) itis only « ¥ 435 :aauly

55. In fact, many ponds are filled completely almost with plant material, so the
1 2

only clear, open water is at the center.
3 4

(Fast Grammar g3 oS A s dadld o ,5) almost completely « Y 4, 35 : auly
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Section Two: Structure Port Two

In each of the following sets of sentences, three sentences are grammatically
correct and one sentence is not grammatical. Identify the incorrect sentence and
mark your answer sheet.

56.

1) As soon as the kids got to the doorway, the music stopped.
2) Suddenly the front door slammed shut behind them.

3) It was the first of several land purchase she would make.
4) Fatty acids are the building materials of fat.

(Fast Grammar g3 oS ) Lis) several land purchases < ¥ 4 ;5 ;aaubs

57.

1) It was not nice and straight like other house.

2) That did not seem to matter to the president.

3) It is the beginning of a new phase of exploration.

4) The children knew they were not supposed to be there.

(Fast Grammar 3,3 oS 18 icu) other houses < Y 435 :aauls

58.

1) When Tom got to the entrance of the cave, the others were waiting.
2) Venus is a rocky world that is about the same size as Earth.

3) One of the areas | have a lot of troubles for is work share.

4) For me, the most important advantage for cohousing is diversity.

(Fast Grammar g3 » @S sy adlsl Bg,) troubles with « ¥ 4535 :aauls

59.

1) The seas are-filled with many different forms of life.

2) He reports on'many of the environment-related stories.
3) Migrating birds get hurt when they fly into tall buildings.
4) She says.it is still possible saving the cheetah.

51 4% 10 L ,aae Fast Grammar i ,6 5 wlis 4 isw) possible to save « F 4y 35 :aauls

60.

1) It will take about six hours for the crew to reach the ISS.

2) Nobody but a real princes could be sensitive as that.

3) Studying things underwater has a huge level of difficulty.

4) They felt it was important to make toys using a natural resource.

(Fast Grammar g3 oS ) Liss) @ real prince « ¥ 4535 :aaulbs
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61.

1) Everything went well for a week or a fortnight.

2) We have all the tools we need to fix this problem.
3) As if she says it with a laugh, she’s not kidding.

4) By writing, | hoped that | might change others’ lives.

(Fast Grammar ig,6  olS ¥ ivk) Cowl (SLS badsla, if < ¥ &5 35 :duuls

62.

1) Some said it happened in the early nineteen hundreds.

2) A little more words of good wishes and congratulations followed.

3) Her mother, Minnie Bourke, worked on publications for the blind

4) Yet, in more important ways, she was a woman of and for her.times.

(Fast Grammar g, » oS ) Licu) A few more words, & ¥ 4 35 : Al

63.

1) The man hanging from the rope looked over at them:
2) They found the owner of the house very much live:
3) He returned home with a plan to go back and help.
4) Jenny and Will were their friends from school.

(Fast Grammar g5, oUS'A Ls6) very much alive « ¥ &5 35 :auuly

64.

1) When they saw was a pile of bones lying on the seat.
2) Tom turned and ran after Sam and the others.

3) They were looking at-us if we are in the zoo.

4) What | like most is-that | know all my neighbors.

(Fast Grammar g3 ObLS pguw w0 F i) What they saw « Y 4535 :auuls
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65.

1) Men dressed the skins for clothing.

2) Have an automobile can be costly.

3) Whatever it was, it happened long ago.
4) He pushed his way through the crowd.

(Fast Grammar g3 oS ¥ i) Having an « ¥ 4y 35 :aaulbs
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Section Three: Reading Comprehension
Passage 1

Families in almost every country are changing. In North Africa, in the past
many people lived in extended families. Fifty to a hundred people lived together
in a group of houses. These were all the family members- grandparents, aunts,
uncles, cousins, children, and grandchildren. But now this traditional family is
breaking into smaller groups.

The traditional Japanese family was also an extended family- a son, his
parents, his wife, his children, and his unmarried brothers and sisters. They lived
together in his parent's home. But this tradition is changing. Now, most adults
do not live with their parents. They have new problems. Men and women spend
a lot of time at work. They don’t spend a lot of time together as afamily. This can
be very difficult.

66. The word ‘they’ in line 7 refers to ............. .

1) unmarried brothers and sisters 2) sons

3) an extended family 4) husband and wife

67. Families are changing in ........... .

1) Japan 2) North America

3) some countries 4)-the majority of the countries
68. North Africans lived .......... in the past.

1) in extended families 2) in fifty to a hundred houses
3) together 4) in small houses

69. The traditional family in'North Africa ............ .

1) is facing problems 2) is steady

3) is getting bigger. 4) is changing

70. In a traditional Japanese family, a married woman lived with her ......... .
1) children.and husband

2) husband only

3) husband’s parents

4) husband and children and his parents
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Passage 2

Floods are second only to fire as the most common of all natural disasters.
They occur almost everywhere in the world, resulting in widespread damage and
even death. Consequently, scientists have long tried to perfect their ability to
predict floods. So far, the best that scientists can do is to recognize the potential
for flooding in certain conditions. There are a number of conditions, from deep
snow on the ground to human error, that cause flooding.

When deep snow melts, it creates a large amount of water. Although deep
snow alone rarely causes floods, when it occurs together with heavy rain and
sudden warmer weather it can lead to serious flooding. If there is a fast snow
melt on top of frozen or very wet ground, flooding is more likely to accur than
when the ground is not frozen. Frozen ground or ground that'is very wet cannot
absorb the additional water created by the melting snow. Melting snow also
contributes to high water levels in rivers and streams. Whenever rivers are
already at their full capacity of water, heavy rains will result in the rivers
overflowing and flooding the surrounding land.

Rivers that are covered in ice can also lead-to flooding. When ice begins to
melt, the smaller pieces of ice can form a dam in the river, causing the water
behind the dam to rise. If the dam breaks suddenly, then the large amount of
water held behind the dam can flood the areas downstream too.

The same thing happens when a large human-made dam breaks or fails to
hold the water collected behind it. Dams contain such huge amounts of water
behind them that when sudden breaks occur, the destructive force of the water
is like a great tidal wave. Unleashed dam waters can travel tens of kilometers and
can destroy everything in-their path.

Although scientists.cannot always predict exactly when floods will occur, they
do know a great deal about when floods are likely, or probably, going to occur.
Deep snow, ice-covered rivers, and weak dams are all strong conditions for
potential flooding. Hopefully, this knowledge of why floods happen can help us
reduce the damage they cause.

71. Flood is more likely to happen when ............. .
1) the ground is not frozen

2) the ground is frozen

3) rivers are at their full capacity

4) a large human-made dam breaks

72. According to the passage, the most common natural disaster is ............ .
1) human error 2) flood 3) deep snow 4) fire

73. According to the passage, which of the following rarely causes flood?
1) Deep show 2) Icy rivers 3) Tidal waves 4) Human error
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74. Which of the following does NOT help the melting snow to cause flood?

1) Wet ground 2) Rain
3) High water levels in rivers 4) High temperature
75. Based on the text, scientists ........... .

1) now know why floods happen

2) do not know the potential conditions for flood
3) can exactly tell when floods happen

4) have recently tried to predict floods

Passage 3

In humans and other mammals, temperature regulation represents the
balance between heat production from metabolic sources and;heat loss from
evaporation and other processes of radiation, conviction, and conduction. In a
cold environment, body heat is kept first by tightening of blood vessels near the
body surface and later by waves of muscle spasm ,.or.shivering which serve to
increase metabolism.

In @ warm environment, heat must be transferred out to maintain body
temperature. In humans, increased surface blood flow acts to transfer heat at 1%
the surface. At temperatures above 93F (34C), or at lower temperatures when o
metabolism has been increased.'by. work, heat must be lost through the
evaporation of the water in sweat. Most mammals do not have sweat glands but
keep cool by panting and by increased salivation and skin and fur licking.

76. The passage refers to which of the following subjects?

1) Anthropology 2) Biology 3) Engineering 4) psychology
77. In line 5'the word “which” refers to .......... .

1) muscle spasm or shivering 2) a metabolic problem

3) heat regulation mechanisms 4) a cold environment

78. According to paragraph 1, all of the following are effective in keeping the
body heat in humans EXCEPT:

1) blood pressure 2) shivering

3) low blood flow 4) high metabolism

79. The word “transferred out” in line 7 is closest in meaning to:
1) added 2) assessed 3) absorbed in 4) spread out

80. It can be inferred from paragraph 2 that the main mechanism of heat loss
during sports activities is through .......... .

1) high blood pressure 2) low metabolism

3) sweating 4) drinking water
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Passage 4
The ancient Egyptians lived in narrow bands of land on each side of the Nile.

They called this region the black land because of the fertile soil that the floods
deposited. The red land was the barren desert beyond the fertile region.
Weather in Egypt was almost always the same. Eight months of the year were
sunny and hot. The four months of winter were sunny but cooler. Most of the
region received only an inch of rain a year. The parts of Egypt not near the Nile
were deserts. The harsh desert acted as a barrier to keep out enemies. The
Mediterranean coast was swampy and lacked good harbors. for these reasons,
early Egyptians stayed close to home.

81. The main function of the red land was that it .......... .
1) provided soil for the black land

2) protected Egyptians from invaders

3) contained some safe and good harbors

4) separated Egypt into two parts

82. The passage mainly discusses the .......... .
1) type of weather in ancient Egypt

2) importance of the Nile for farming

3) geographic features of ancient Egypt

4) lifestyle of ancient Egyptians

83. The word “barren” in line 3'is closest in meaning to .......... .

1) unfertile 2) large 3) remote 4) wide

84. The word “they” inline 2 refers to .....

1) Egyptians 2).bands 3) floods 4) months

85. It can be inferred from the passage that Egyptians grew their crops .......... .
1) during the months of winter 3) when there was a lot of rain

2) on the Mediterranean coast 4) on the banks of the Nile
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Section Four: Cloze Passage
Read the following passage and fill in the blanks with the most appropriate
choice.

Some parents believe that being strict with children is the best way to make
them good adults. In that process parents tend to ...(86)... over-strict. They
...(87)... that every child has a natural tendency to grow ...(88)... freedom and
autonomy. Children should become free, independent, and autonomous. A fully
...(89)... personality, manifests freedom from unnecessary inhibitions. ...(90)...
also ensures high level of independence and autonomy. Over-strictness kills the
...(91)... of freedom. Children get the wrong idea that being free and independent
is ...(92).... . In the present competitive world, a child should be self-confident.
This is achieved only through parental support. In a situation. ...(93)... parents
employ only strictness and control and no love, children “.(94)... their
individuality and fail to ...(95)... appropriate decisions in their life.as the parents
have always taken the decisions. Psychologists feel that it could amount to
‘authoritarian’ parenting. Children of ...(96)... parents do not become
independent and develop severe anxiety ...(97).. situations that demand
decision-making. They ...(98)... to play secondary roles in all their-activities.
...(99)... children fail to become leaders. There is always the possibility that
...(100)... may feel inferior to others in.all‘respects. In effect such children can
never achieve the expected goals of life.
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86
87

88.
89.
90.
91.
92.
93.
94.
95.
96.

97.
98.
99.
100.

. 1) become

. 1) forgot

1) into

1) identifiable
1) One

1) soul

1) pleasant

1) which

1) lost

1) take

1) uneducated
3) poor

1) from

1) compete
1) As

1) theirs

2) becomes

2) have forgotten

2)in

2) immature
2) It

2) atmosphere
2) undesirable
2) although

2) are losing

2) let

2) over

2) manage
2) Many
2) they

3) became

3) will forget
3) from

3) unimproved
3) Many

3) body

3) possible

3) which

3) lose

3) get

2) authoritarian
4) uninterested

3) under
3) tend
3)Soas
3) them

4) have become
4) forget

4) through

4) developed
4) Some

4) spirit

4) significant

4) where

4) to lose

4) give

4) beyond
4) refuse
4) Such

4) themselves

25 Sl 518V GUTEPT (3305 cand 915 canan Y50 3

1099 oU 4.»3;

www.psychology4all.com/parenting.htm

b as o400 1y Hldl ol (g 9SS § OIS pge0 Slaw! 30l 09,5
(Www.ketab.org.ir) «obs Gl colw cowy jlol 49 sbow!

39 Ol 6350 9 0yl b 9031 sy o 5 09 58 5,

ol AY 935 by Jlu




(0121 39 555 9 9yl (b3 Wy (2 F GB35 9 (25 2) (SNi94s555 018 o Sliael (bjgol— At 09,5

oLe )3T MHLE 3 EPT.MSRT JUTEPT (claygesl 5o osd sl o) phed 859, T 80,558 5,50
(35S 65250 5 0l ol lie 03 09,80 B30) (SN 9AST ) OIS o0 Sbiasl 05 L AV
A5 aalys 5

5553 pbj slapgajl sly Salol 6592 pyieela
Y ooy 3T A G #6155, b

O &b ot ot lo wygle (e GhLS (i MBI s (ol ] -
celo Y7 :o)j.)lj}lo -

sloybg) g OLSi g aad yuy jai YolS Ojgm wlban Sja g joly5 Galinagjga (4l )2
.23}5,0 ailjl aiibaS jlgal sloyygojl jl Cuws 9. agaa Julai b:l\:.gl i j

:s:l:.ﬂhl.l.n_lh@

www.i.fastzaban.com/Azar97 picas colu

AFS VYT el il

fastl0 oS o plicad (LI B oS Sliwgs slp gaoyd Vo caass oS %

~
N

Y
Y

. www.FastZaban.com ’g
=
)
w0

) N
3
3
H b I
2 15J9J"° )19
T e
,in ,...N )Lb‘a < )..f .>b
: ™
§ Olsysgsdoans e
% airiesla s cld
3 olpadas il Bali €
3 Ol g
T I JuNGLE 33 (G930
J ‘"'m I‘IM www;anga! com ] Lo yaze



http://i.fastzaban.com/Azar97

el OS5l QLS Ol &5 ladsy 35 ela sl LEPT QY ole OLT 0ga3T 08 5ly sty ¥l
(UK Ol)lisl olz) 359455 3l 440 «Fast Vocab

?‘ F t (EPT)
) Fas :
ol &ol—= olJ)lg
Ol alal -
ajigo-€ 7
16 daoy3 by Jlo dlaz Aee ji e ©
Jalisyga dilal AR A "’“‘ w
.”"” Balyie dalS 100s I iy
. = ogilam Slalf g Ol (e9b90 (S3IMGEWS
Ulig) j— vtia 131 giniasglyl g ) i prbaus (yiusled
ALY Il s pSal S 315 3 (Ml 4 boipe SIS _I
bjgal olyama la) IPA Bials

Sy gAipdiab (Ul ¢ s OIS
2oz apgejl

asl_alwl ) )5

L9 8is jlulbgla
JB guinl

MSRT, MHLE, EPT 5{@%

wnuyl Sl gbj ylaladle g Woabsl

£ !

saigaijalyaadyli

P imiioma v [

LA . e education needs to include reading, writing, math, and a variety of other
subjects.

1) plain 2) visual 3) silly 4) fundamental

£ . £

2. lamvery............ for the support | received from my family during the recovery period.

1) careful 2) powerful 3) helpful 4) grateful

VOF dxdo Ol yd Sl Ol ol p2djled il dY )

3. Some workers became ill because of the ............ conditions on the farms.

1) harsh 2) natural 3) proper 4) suitable

4. Our exercises help you think quicker and ............ information from your memory faster.

1) retrieve 2) associate 3) monitor 4) look

(:y»édzjc\c' o0 YA dxbo Y& dmbs Y& dbo

5. Most people have to ............ stress on the job from time to time.

1) interfere with 2) agree with 3) succeed in 4) cope with

YEY 5 YV olas YV oY) clbis YA doin Y doan
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6. In the early 1960s, producers were very powerful and ............ organizations.
1) hesitant 2) passive 3) dominant 4) relevant
V5 dao Y¥+ doan ¥ dxbn YA dxbo
7. Danielle cannot expect to pass her chemistry test if she only spends a ............ amount of
time studying.
1) large 2) negligible 3) vast 4) notable
V¥ daws A das VY dxaw ¥Y dxaw
8. She has shown a lot of her paintingsinart ........... around the world.
1) exhibits 2) districts 3) missions 4) reviews
AN Ao VAY dovs V¥ daw YA diw
9.lIna........ of just ten years, the city’s crime rate has increased by 50 percent.
1) space 2) span 3) frame 4) minimum
10. Without a ........... , the house was empty for several months.
1) lawyer 2) director 3) dweller 4) sailor
11. Because of the ........... , there is less water flowing from rivers into the oceans.
1) drought 2) damage 3) comfort 4) budget
@a3ib ¥ oyd  YE oYY Fe ) Slrieo FY domio YAS diio
12. Overuse of computers can ........... children from developing the skills necessary for work
and life.
1) ruin 2) shelter 3) abuse 4) hinder
13. She ........... that she had always told the truth.
1) monitored 2) insisted 3) counted 4) learned
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14. Using a needle to ...

her ear caused the girl a lot of pain.

1) capture 2) tackle 3) pierce 4) catch
15. Modern plays are easy to understand in ........... with those written by Shakespeare.
1) comparison 2) point 3) contact 4) difference
VFY doxio ¥YY doxio V¥ i by Sl
16. She ........... to finish the project without any help.
1) resulted 2) fulfilled 3) managed 4) achieved
YYY 5 WA olas VO A ¥ d>ao ped e F oy
17. The Queen’s visit to Rome was very short, so she decided to ....... .... it by three days.
1) stretch 2) spread 3) extend 4) shrink
SF o SE o % dons %l
18. They ........... my mother for a famous actress.
1) mistook 2) confused 3) understood 4) misinterpreted
YA;:D:.O.@ rvm«;éJ‘MwP \Yfi;xo.w -
19. The ........... traffic made him late for work.
1) full 2) strong 3) thick 4) heavy
e Ao Y At YOV dio YV das
20. I went to the exam session full of ........... , but it was more difficult than | had imagined.
1) confidence 2) posture 3) mystery 4) patience
@3)193 e YA u»).) - ¥ dao YVY dxoo
21. Even though the company claims the energy drink is ..........., you may experience some

unwanted side effects after drinking the beverage.

1) kind

VY din

2) benign

VY doas

3) spectacular

4) apathetic
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22. |l was ........... when the doctor suggested | try massage for my headaches, but it really
helped
1) satisfied 2) critical 3) skeptical 4) brave
23. The teacher who allowed the bullying in her class is just as ........... as the student bully.
1) innocent 2) bold 3) fabulous 4) culpable
whbu:.]c"\' L)A-’)-) \()5’39:9.\9 - Wu’.‘caﬂ u}).)
24. She bought a new umbrella, and ........... lost it.
1) significantly 2) promptly 3) greatly 4) seriously
¥Y dxan V¥ dovo ¥¥ doan FY dovo
25. Doris Lessing, who grew up in Zimbabwe, wrote many books ........... life in Africa.
1) depicting 2) insisting 3) sympathizing 4) mourning
Jg‘uxlc&? e rnyuuajcv" wed rby»g.,ajc\c\“ o WU.J‘Y'Y ood
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1. The sweeper ......... the classroom after the children left a mess.

1) cleaned 2) stand 3) meant 4) sat

2. My ......... is a writer and her books are very popular.

1) brother 2)uncle 3} father 4) aunt

3. John is very ............. . He doesn’t go out a lot.

1) bored 2} friendly 3) angry 4) shy

4. Turn ......... and you’ll see the museum on the left.

1) right 2) rightly 3) by she right 4} on the right
5. The museum was ......... on Monday.

1) aware 2} sleepy 3) tired 4) closed

6. Didyou ......... shopping after school yesterday?
1) draw 2} clean 3)go 4) come

by QLS 1eF Al 30 45 Ll (G000 FF Ot <O go shopping a7 s b
el 0L 08337 & Fast Grammar

7. You should be very.......... of yourself. You have done a great job.

1) proud 2} calm 3) happy 4) angry

8. Marry has fallen down the steps outside and there's ......... everywhere.
1) bone 2) skin 3) blood 4) cut

9. Last Wednesday the company told Sara that they had emailed her job details
the ......... day.

1) last 2} before 3) earlier 4) previous

g g 50,85 b b g MSRT (EPT (glas yg051 V15w il (4,
L www.FastZaban.com colucg 4 0]
Lo ool 5L JULS
Awles assl e t.me/FastZaban
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10. 1 usually ......... my breakfast before 8 o’clock.

1) keep 2} have 3) take 4) get
11.1......... six emails before Nowruz.

1) spent 2) cut 3)put 4) sent
12. The bag was very ............ . | could easily hold it up.

1) deep 2) hallow 3) light 4) serious
13.1 have ......... the cash as you instructed.

1) delivered 2) dug 3) drank 4) associate
14. I'll take care of the others if you want to ......... the kids.

1) watch 2) think 3) view 4) digest
15. Tom was absent to ......... reading.

1) give 2) go 3) tidy 4) begin
16. Let's ......... at how this happened.

1) see 2) wear 3) look 4) bring
17 Pmai tired of all this movement.

1) getting 2) taking 3) seeing 4) having
18. How could anyone ......... asleep that fast?

1) keep 2) wait 3) start 4) fall

19. Ifyoudon't ......... up and demanda change, he'll keep on doing it.
1) sit 2) stand 3) arrange 4) ride

20. The flowers drank much more water than we had ......... .

1) realized 2) cancelled 3) started 4) happened
21. Sally usually ......... the dishes at 5 o'clock in the afternoon.

1) washes 2) drinks 3) plays 4) eats

22. Marry is ......... Volleyball with her friends in the yard.

1) standing 2) understanding  3) playing 4) drinking
23. John is always ......... in learning English.

1) happy 2) busy 3) heavy 4) interested
24. Sam rarely ........ TV when he is at home.

1) speaks 2) reads 3) watches 4) stands
25. | listened to the radio but | did not ......... the news.

1) think 2) drink 3) play 4) understand
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Section Two: Structure Part One
Choose the answer which best completes the following sentences.

26. The student’s questions are always ............ by the teacher.
1) answers 2) answered
3) answering 4) to be answered

27. Money was generously ............ to the homeless shelter.
1) donate 2) donated 3) being donate 4) donating

5 lwas Leoll o7 olitie g be KoS Jeb 31 am Job pgw coomd 3 ,8) < ¥ 35 :auula
.(Fast Grammar g g,=8 » LS pudp olo 1Y sy VA dxdn ¢ Jeaome o Lol

28. Instructions ............ to you by the director.
1) will give 2) given 3) was giving 4) will be given

syt Lo o [be sl o7 wilicie ghe K8 Jad 31 o Jed o g coond 0,1,8) — F 4035 : auula

w35l 4 dzgi b g ddos clucyl juinstructions yluils . Jeld 3o af wis cdo s Joame

by + ;5 saiposlaxil nunn by the director

dus_’_a_}.s Gl i ul—? W v 1) NFe dmdo faslo 3Lo G]g—qqu: J—d SO A cdlos LSLQ':'“ 30

.(Fast Grammar

29. She mentioned ............ my brother at a baseball game.
1) see 2) seeing 3) to see 4) had seen

.{Fast Grammar
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30. If you want, he ............ with you to the store.
1) should go 2} cango
3) would have gone 4) goes

el 38 Lo gl 20l Jlo o) o ygums WANE 3929 3l & 9 oo b 598) — ¥ &35 :2umls
{(Fast Grammar _og,=3 » 8 pid oo ¥ adu NP Ao

31.Ifl.......... so much candy, | might be hungry.
1) had eaten 2) have eaten 3) hadn’t eaten 4) don't eat

L"BJJJ" ol i ub 1 s NPY Aocdio o=t e sbsle ‘_‘;55.") «¥Y 9.:.15? l:.I.I.I.II._!

.(Fast Grammar

32.1suggest ............ more English short stories.
1) read 2) to be reading 3) reading 4) to read

.(Fast Grammar _ug,-%»

33. I'll be back tomorrow ............ there is a plane strike.
1) unless 2) whether 3) rather 4) until

S s ln pgd w30 B L A dada (sad lesaiasky, o,l8) & ) A3 auuls

.(Fast Grammar og,-%

34. ............ inthe ocean has been Sharon's passion since she was five years old.
1) Swim 2) To go swim 3) Swimming 4) Having swim

.(Fast Grammar

4 duile 20 (539 OIS 40 sliw! GLOLS A (6l 2
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35, | delayed. ........... Jerry the bad news.
1) telling 2) tell
3) to have told 4) have been telling

.(Fast Grammar _og,— »

36. Making friends has become more difficult since | ........... to a new city.

1) would move 2) moved 3) move 4) moving

iy MY Ao YU JalS Jlo o le) j0 SINCE 3l 4338 (4l 5l salen 0 ,,18) — ¥ A58 auls

ST sl o (5 w2 9031 1 B 80,048 8550 ;0 45 Fast Grammar g, oS s olo \+
.(,aQJS

37. 1 agreed. ........... to a party with my friend.
1) going 2) go 3)togo 4) be gone

.{Fast Grammar

38. Yesterday, | decided ........... .
1) to draw 2) drawing 3) draw 4) to have drawn

(0,5 05T sl T (095 w2 983 31 b 83,583 5,90 50 a5 Fast Grammar g 5

39. | wouldn't be here if ........... never met you.
1) had 2) have 3) had had 4) were

45 20,8 olgie o oygesl 3l L8 80,08 5508 5o 45 (b sk gle s L 3 s ob 3L :Fast Grammar
(O EYPOV PES YO JEN IS PRV
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40. If you help me with the dishes, I ........... you with your homework.
1) would have helped 2} would helped
3) help 4) will help

L gl sole b nlo) Soyguan help Se2g MFF ddio gl & gud o ‘_‘;55.") «~ ¥ 2:\;_55 l:.I.I.I.II._.!
{(Fast Grammar _og,=2 » oS pidp o ¥ adu NFF dmde oo WIS

41. How ........... time do we have for solving this puzzle?

1) much 2) many 3) long 4) quick

Y iy F dodio Jtime Lyl 8yl B oalst ol yoay how much o ,1) < ) &35 ;auuly
(Fast Grammar s g,=3n L5 pdb ol o

42. | wish Mike ........... to Paris on holiday. They're talking about an eruption
there on the news.
1) doesn’t go 2) didn't go 3) hasn’t gone 4) hadn’t gone

.(Fast Grammar og,-3

o Gl Olgiody ) ¥ 8238 K0 (D590l (5809, 9 Sluwsde 31 (S 1493
Il a3 TIIIISOAS” 5liii 45 10,5 38

N

) e

AR I BT A B gns et b eyt 00 i sk R el S ) m s Jilaigail o
e g L LAY ] gty i ; iy gy gLl glac Ly pala 5 apgallt
Ay e e : B ot gl e
e S oy AT 208 oty R st : kb AR et i gl
0 ipal B8yl 85 ¢ e it s i Sl ety LAY b 4 MIHILE g MSRTLPT

ik b2 he )y s
wnariad b Y8 N ,wﬁbﬂ‘.jl._\;,_,.:.:.;.._,mjxiaz

(&gl 310 o il o

ole IE 3o ol Jlim ea jl piwy pig s o985 L Fast Grammar yig é sy o Us

BYLY|




(0121 58 6550 3 0| (5 52 (2 F P985 8 005 ) (GAigaaSSs o1 s Slisl b gal- Al 05,

43. ........... English is necessary to work in a hotel.
1) To speak 2) Speaking
3) To know speak 4) Speak of

b SUS e ol B idky FF Ao JeU gy jhas aeil 00,8) € Y 3035 Aunly

.(Fast Grammar
44. He looks forward to ......... his cousins.
1) meet 2) meeting 3) to be met 4) have met
wlo Vo sty A+F dmio Jook forward to 3 ae Jab yleing JSib 0 ,,08) « ¥ a8 aauls
L2055 08T sl o7 (695 o8 oy gedT 31 b 80 5aud 5350 0 a5 Fast Grammar (b 3 5 ol sis

45. 1 had no choice but ........... her.
1) follow 2) following 3) to be followed  4) to follow

.(Fast Grammar g,

e il Olaiad 1Y 0038 K8 digel (5180955 9 iluwio 3T (S lues 145
1 F 8338 1yl Ml SO sl sbows 3 TSl diliwbio 45” ilod 57 59
2,5 dales Cowst e Frub Olgiad

1S =88 MacMillan g Collins <39 =0 (Sl 8 dSd 31 523 (Sld flo 4

@ https//www.collinsdictionary.com/am|
@ hups://www.macmillandictionary.com;

—— TR

D MACMILLAN

[CT]ONARY Definition of 'have no choice/ have

little choice'

Definition from macmiliandictionary.com Learner
) have no choice/ have little
choice
have no choice/have little n u
ChOice - definition and synonyms
phrase
PHRASE b
If you have no choice but to do
if you have no choica or little choice, you have to do Somethmg or have little choice but to do
something s . ! i ———
I'had no choice other than to accept what he said. It, you cannot avoid leﬂg It
Meny mathers have little choice but to work. They had little choice but to agree to what he

) svnoryms and refared words suggested.
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46. My mother has been a teacher ............ twenty years, and she still loves her
job.
1) since 2) for 3} until 4) by

o) « ¥ 4435 s aumly
for + ,15 el cais b »unn for twenty years

Sapmdy olS was Ols W Liady W demio YU [has been L] Jeols Jlo olee) 5o

Apo,5 a7 g9y 5 ap oygedl 31 Jud 50 1558 5590 o 45 Fast Grammar

47.1 hope that it ............ a good movie.
1) would have been 2) was
3) will be 4) had been

SH9y=dy QLS IF iy IV Amdio oYL hope 31 ux suy] oloj os,8h <V 43S Al

.(Fast Grammar

48. We don't earn ............ profit this year.
1) many 2) so many 3) much 4) some

.(Fast Grammar dg,=8 » LY i F dodos 1060 oo liod

49. The studio lights went out while the footballer ............ .
1) had been interviewed 2) was interviewed
3) was being interviewed 4) was interviewing

At g (WWW.ketab.org.ir)
D 5 Gl o slpie 1) (5935455 oo e sliel G lS Glar Jlu 5 31,8 naglie S
radle iy adamdle ((LLES 5P colw

http://www.ketab.org.ir/BookList.aspx?Type=Authorid&Code=384187

http://ketab.org.ir/BookList.aspx?Type=Authorid&Code=491381
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50. There wasn't ............ milk in the fridge so | went to buy some.
1) some 2) any 3) the 4) a

Lpe,S oyl o7 ay op ygo3l 31 Jud 50 piud 5,90 4o 45 Fast Grammar b -3 o

51. Which train ............ for when | saw you yesterday?
1) did you wait 2) have you waited
3) were you waiting 4) are you waiting

o) Soyge SAW aF 4iS Cds oy le) il g (¢l poind A28 o sloe py18) < ¥ 438 auuly
L?‘BJJJ" oS i ub W el i gl a0 By Cag=2F gV Lleas ¥ 5 ol danlds

.{Fast Grammar

52. Mary made no stops on the way except ............ gas.
1) getting 2) get 3) had gotten 4) to get

imio Jexcept Lyl aslal Gg,o 3l o (Jad slo ing JSi L) jhuas wedl 830318) — Y &35 2anls

ol @95 w2 ogesl 1 o8 80,03 5590 ;0 45 Fast Grammar g3 5 oS piis ola 1o iy 100
(0,5 25Tyl

53. The course involved ............ three tests.
1) writing 2) to write 3) wrote 4) write

.(Fast Grammar

54. The patient had died before the doctor ............ .
1) come 2) had come 3) came 4) coming

ol Vo ks MR G K5, 1 05lus ABAS 5 ol A8 gloles ol8) — ¥ 4055 : Aumlly
2055 08T JLawd 51295 o8 9031 31 B 50 b 5,90 ;0 45 Fast Grammar g md p SUS peidn

55. She had not ............ new dresses for the wedding party.

1) buy 2) bought 3) wish to buy 4) have bought
imdatthad byl T Slinie ghave (Ss Jad 3 e Jod paas Casnnd 0,0,15) < ¥ 2035 ;auuly
ol sy ap oseil 31 8 500 359 ;0 45 Fast Grammar bg,md p ol peids ol Yo sy STF
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Section Four: Cloze Passage

Read the following passage and fill in the blanks with the most appropriate
choice.

[ woke up on August morning in a warm sweat. [ ran ...(86)... the refrigerate to
get a ...(87).. drink, but the refrigerator ...(88)... broken and all the drinks ...(89)...
as hot as me. | walked over to ...(90)... electric fan, but it wasn’t working ...(91)....
| then turned ...(92)... the television and finally realized ...(93)... the electricity in
my house was out.

Later that day, | ...(94)... to the pool to cool off. | dived right in! | swam eight
laps ...(95)... | tried out. My friend then bought me ...(96)... ice cream cone. |
...{97)... a vanilla ice cream cone ...[98)... Rainbow Sprinkles. Even though it was
really ...{99)..., | did ...(100}... a lot of fun.
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86.
87.
88.
89.
90.
91.
92.
93:
94,
95.
96.
97.
98.
99.
100.

1)to 2}in 3)on

1) hot 2) cold 3) heavy

1) was 2}is 3) are

1) was 2) were 3) has been
1) me 2) myself 3) mine

1) either 2} nor 3) neither
1) up 2) off 3)in

1) which 2) who 3) where

1) go 2) went 3) had gone
1) which 2} while 3) during

1) the 2)a 3)an

1) get 2) got 3) was getting
1) through 2) from 3) beyond
1) cold 2) cool 3) chilly

1) have 2) had 3) not

4) at

4) tidy

4) were

4) had been
4) my

4) though
4) on

4) that

4) was

4) before
4) -

4) getting
4) with

4) hot

4) had been
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Section Twa: Structure Part One
Choose the answer which best completes the following sentences.

26. The student’s questions are always ............ by the teacher.
1) answers 2) answered
3} answering 4) to be answered

27. Money was generously ............ to the homeless shelter.
1) donate 2) donated 3} being donate 4) donating

o [was eyl o7 wlicie g be Ko Job 3l o Jab pow Coiad 3,558) & ¥ 4035 :aauls
(Fast Grammar s g,=2 » LS pude la 1Y pdn YA dodie § Jgamme clo Lol

28. Instructions ............ to you by the director.
1) will give 2) given 3) was giving 4) will be given

slo Ll ;o [be teyll 5T iliiie gbe  Kost Jed 3 ax J2b o g Coomd 0,1,18) — F 2235 :aauls

10,0, 4y azgi U gales dlasslyainstructions jluils 2 Jeld 5l v af wos cdo ¢ Jaame

by + I8 3uisoplxil »ua» by the director
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29. She mentioned ............ my brother at a baseball game.
1) see 2) seeing 3) to see 4) had seen

.(Fast Grammar
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30. If you want, he ............ with you to the store.
1) should go 2) can go
3) would have gone 4) goes

el a8 Lo g1 o0l Jlo lo) Cayguas WANE 3905 o J ol £ 9 oo 598U1) ¥ 4235 :2umls
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3L M i so0 much candy, | might be hungry.
1) had eaten 2) have eaten 3) hadn’t eaten 4) don’t eat

L?‘ﬂ)JJ" uL:Sm_I.Q.bu_al_& V8 ety SFY Amiio - pond el sbale ($5§'!1) <Y 2:\;_55 l:.l.l.l.ll.l_
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32. | suggest ............ more English short stories.
1) read 2) to be reading 3) reading 4) to read

.(Fast Grammar _ug,—

33. I'll be back tomorrow ............ there is a plane strike.
1) unless 2) whether 3) rather 4) until

(Fast Grammar og,—3

34. ............ in the ocean has been Sharon’s passion since she was five years old.
1) Swim 2) To goswim 3) Swimming 4) Having swim
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35. l delayed. ........... Jerry the bad news.
1) telling 2) tell
3} to have told 4) have been telling

.(Fast Grammar ug,-%»

36. Making friends has become more difficult sincel ........... to a new city.

1) would move 2) moved 3) move 4) moving

s MW dadio Yl JolS Jlor Loy 30 SINCE 31w anids (o) §5lgaten 8 ,18) < ¥ &35 :aunls
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37.1agreed ........... to a party with my friend.
1) going 2) g0 3)to go 4)'be gone

.(Fast Grammar

38. Yesterday, | decided ........... .
1) to draw 2) drawing 3) draw 4) to have drawn

SlS s Ola Y Ly MoA ddo decide 51 om0 b jomas 8 ,18) « Y A0 auuls

(pe 5 805U Jlums )T (555 wB s 51 b 80,23 8,95 ;o a5 Fast Grammar g3

39. l wouldn’t be here ifl ........... never met you.
1) had 2) have 3} had had 4) were
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40. If you help me with the dishes, | ........... you with your homework.
1) would have helped 2) would helped
3) help 4) will help

L gl ool Jlo le) &oyguan help Sgg NP Aaxdio gl £ 9 = ($5§'!1) — ¥ 9.:4_55 l:.l.l.l.ll._l:
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41. How ........... time do we have for solving this puzzle?
1) much 2) many 3) long 4) quick

Y iy F dodo [time Lt 3 leds B s oleol of yonay how much & ,,15) & Y &35 :Sauls
[{Fast Grammar _sg,=8 » =S o ol

42. | wish Mike ........... to Paris on holiday. They're talking about an eruption
there on the news. ) ”
1) doesn’t go 2) didn’t go 3) hasn't gone 4)-hadn’t gone

DS s ol 18 gy MR Ao Wish 3 ws closlgaten @leSI) « F 4035 :aumly
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43. ........... English is necessary to work in a hotel.
1) To speak 2) Speaking
3) To know speak 4) Speak of

.(Fast Grammar

44. He looks forward to ......... his cousins.
1) meet 2) meeting 3) to be met 4) have met

wlo Vv sty o F dmio Jook forward to i ae Jad sleing J55 0 ,,8) < ¥ &055 :auuls
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45. I had no choice but ........... her.
1) follow 2) following 3) to be followed ~ 4) to follow

.(Fast Grammar og,-3
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@ hitps//www.collinsdictionary.com/am; 9 3
@ hitps /www.macmillandictionary.com/ H
@ =[=Collins =
DiA(AiC,IMIILOLﬁ ARY Definition of 'have no choice/ have
little choice'
Definitien from macmillandietionary.com Learner
=) have no choice/ have little
choice
have no choice/have little nu
ChOice - definition and synonyms
phrase
s If you have no choice but to do
if you have ne choice ar little choice, you have to do Something or have little choice but to do
something e = " . . il
I had nc chaice other than to accept what he said. i, you canriot, avoid dDIﬂg IT.
Many mothers have littie choice but to work. They had little choice but to agree to what he
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46. My mother has been a teacher ............ twenty years, and she still loves her
job.
1) since 2) for 3) until 4) by

spl8) « ¥ 43S Al
for + ;18 elail Cioe Jsb »unn for twenty years

Sasmdp ol ayas Ols Yo iy WY Ado YU Jhas been Lawul] Jsls Jl> ol 4o

Lpo s afU o7 oy 2P ogedl 3 B 35,48 5,90 ;o 45 Fast Grammar

47.1 hope that it ............ a good movie.

1) would have been 2) was

3) will be 4) had been

09 md 1 OLS W gy WY Smdo YL hope 3l am suai] gl o) e ¥ ALE l:..ml.g
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48. We don’t earn ............ profit this year.

1) many 2) so many 3) much 4) some

{(Fast Grammar g ,— » LS Y gty F doxdo to gl soliu!

49. The studio lights went out while the footballer ............ .
1) had been interviewed 2) was interviewed
3) was being interviewed 4) was interviewing

3L 35 Joame ;UL 4y a5 apsiSBs while am o5l il slagle; 0,0,5) < ¥ 435 :Auuly
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50. There wasn’t ............ milk in the fridge so | went to buy some.
1) some 2) any 3) the 4)a

oS oyt T ay i yge3T 31 ol 50 iud 5590 ;0 a5 Fast Grammar ug -8y

51. Which train ............ for when | saw you yesterday?
1) did you wait 2) have you waited
3) were you waiting 4) are you waiting

Ooled 1 geay SAW 45 42 s laple) @l 5 (o)l paceesl A3S (e slools) ¥ &35 sauuly
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52. Mary made no stops on the way except ............ gas.
1) getting 2) get 3) had gotten 4)to get

(p055 ST 5l

53. The course involved ............ three tests,
1) writing 2) to write 3)wrote 4) write

.(Fast Grammar

54. The patient had died before the doctor ............ .
1) come 2) had come 3) came 4) coming

e Yo iy DA Ao 158005 L ol ARBAS 5 Jolf 42238 slogyles 0,,18) © ¥ 4035 :Aunly

o5 08T Lo 95 o8 09057 31 Jud 80 yiud 5,90 ;0 45 Fast Grammar g b y S geiin

55. She had not ............ new dresses for the wedding party.
1) buy 2} bought 3} wish to buy 4) have bought
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